Concept Lecture - 11




A man in a train notices that he can count 21
telephone posts in one minute. If they are
known to be 50 meters apart, then at what
speed is the train travelling?
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a)57 km/h {60 km/h

c)63 km/h d) 55 km/h
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I walk a certain distance and ride back
taking a total time of 37 minutes. | could
walk both ways in 55 minutes. How long

a) 9. 5 minutes 19 minutes
¢) 18 minutes d) 20 minutes
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A man takes 6 h 30 min in going by a cycle and
coming back by scooter. He would have lost 2 h
10 min by going on cycle both ways. How long
would it take him to go by scooter both ways?
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On a river, Q is the mid-point between two
points P and R on the same bank of the river.
A boat can go from P to Q and back in 12
hours, and from P to R in 16 hours 40 min.
How long would it take to go from R to P?
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Excluding stoppages, the speed of a train in
50 km/h) and including stoppage, it is
v ?:Wcm/h. for how many minutes does the
60 m 1hv 50km train stop per hour?
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Excluding stoppages, the speed of a bus is
80 km/h and including stoppage, it Is
60 km/h. For how many minutes does the
bus stop per hour?
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A farmer travelled a distance of 61 km in 9
hours. He travelled party on foot at the rate 4
kmph and party on bicycle at the rate 9 kmph.

%}[/k\m}h Sﬂ/z’”’/}) 11_;;:distancet(n;a!l\/’Eﬂﬁa_l;':;l o;?rfo%js ouct #
FA 8] FHA ¥ T Fo g Uqa

AfFsi Y oy ¥ R e @
GI%}MIN awﬁmwmm"r/ﬁa?rmﬁr#atraﬂﬁ
8| Yoo a7 # 7 gt Tar W
§ %716 km b)ldkm c¢)17km  d)15km
' % S, WS
iy 5hy \
oo b AXAS

| SSCCGL 2014 T-2 | 8



OQO\

|12~

ﬁ?\‘
&

Yy

PR

3y

A man travelled a distance of 80 km in 7 hrs
partly on foot at the rate of 8 km per hour
and partly on bicycle at 16 km per hour. The
distance travelled on the foot is
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32 km b) 48 km
c) 36 km d) 44 km
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Adhikari travels 600 km to his house partly by train
and partly by car. He takes 8 h if he travels 120 km by
train and the rest by car. He takes 20 min more if he
travels 200 km by train and the rest by car. Find the
speed of the train in km/h.
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A man travels 450 km to his home partly by
train and partly by car. He takes 8 hrs 40 mins if
he travels 240 km by train and rest by car. He
takes 20 mins more if he travels 180 km by train
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It takes 11 h for a 600 km journey if 120 km is
done by train and the rest by car. It takes 40
min more if 200 km are covered by train and
the rest by car. What is the ratio of speed of the
car to that of the train?
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Buses start from a bus terminal with a speed of
20km/ph at intervals of 10 min. What is the speed of a
man coming from the opposite direction towards the bus
terminal if he meets the buses at intervals of 8 minutes?
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a)3 km/h b) 4 km/h

45 km/h d) 7 km/h
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Two guns are fired from the same place at an
interval of 6 min. A person approaching the place
observes a time lapse of 5 min 52 sec in between
the sounds of the two guns. If the velocity of the
sound is 330 m/sec, the men was approaching
that place at the speed of (in km/h)
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Buses start from a bus terminal with same
speed at intervals of 10 min. A man walking
at 10 km/h.in the same direction as that of
buses, meets the buses at the intervals of 12
minutes. What is the speed of buses?
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¢) 72 km/h d) 55 km/h
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